



Naam: \_\_\_\_\_

Datum: \_\_\_\_\_ Score: \_\_\_\_\_

$$(-1)^{(-2)} - (-2) =$$

$$10^{(-1)} - 4 =$$

$$5^2 - (-6) =$$

$$(-9)^{(-1)} - (-8) =$$

$$3^2 - (-4) =$$

$$(-7)^{(-1)} - 8 =$$

$$9^{(-2)} + (-6) =$$

$$(-7)^{(-2)} + 8 =$$

$$5^{(-2)} - (-2) =$$

$$(-3)^2 + (-2) =$$

$$7^{(-1)} + 2 =$$

$$(-4) - (-9) =$$

$$(-7)^{(-1)} + (-9) =$$

$$(-7)^0 + 10 =$$

$$2 - 10 =$$

$$(-9)^0 - (-6) =$$

$$(-8)^{(-1)} - 9 =$$

$$(-3)^2 + (-9) =$$

$$8^{(-2)} + 5 =$$

$$10^{(-2)} + 4 =$$



Naam: \_\_\_\_\_

Datum: \_\_\_\_\_ Score: \_\_\_\_\_

$$(-1)^{(-2)} - (-2) = 3$$

$$10^{(-1)} - 4 = \left(-\frac{39}{10}\right) = \left(-3\frac{9}{10}\right)$$

$$5^2 - (-6) = 31$$

$$(-9)^{(-1)} - (-8) = \frac{71}{9} = 7\frac{8}{9}$$

$$3^2 - (-4) = 13$$

$$(-7)^{(-1)} - 8 = \left(-\frac{57}{7}\right) = \left(-8\frac{1}{7}\right)$$

$$9^{(-2)} + (-6) = \left(-\frac{485}{81}\right) = \left(-5\frac{80}{81}\right)$$

$$(-7)^{(-2)} + 8 = \frac{393}{49} = 8\frac{1}{49}$$

$$5^{(-2)} - (-2) = \frac{51}{25} = 2\frac{1}{25}$$

$$(-3)^2 + (-2) = 7$$

$$7^{(-1)} + 2 = \frac{15}{7} = 2\frac{1}{7}$$

$$(-4) - (-9) = 5$$

$$(-7)^{(-1)} + (-9) = \left(-\frac{64}{7}\right) = \left(-9\frac{1}{7}\right)$$

$$(-7)^0 + 10 = 11$$

$$2 - 10 = (-8)$$

$$(-9)^0 - (-6) = 7$$

$$(-8)^{(-1)} - 9 = \left(-\frac{73}{8}\right) = \left(-9\frac{1}{8}\right)$$

$$(-3)^2 + (-9) = 0$$

$$8^{(-2)} + 5 = \frac{321}{64} = 5\frac{1}{64}$$

$$10^{(-2)} + 4 = \frac{401}{100} = 4\frac{1}{100}$$